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RECODE - CREATE

[2&ds] 7
[E=018] v7
[He]

[CRE] EHMIXIOH = (221X
7_3 +

compute v7 =v7_1+Vv7_2+Vv7_3+Vv7_4+1H (202).

[2stHs] 12
[H2=0l2] aalb_?2
[HEAEA] [CRE] FEAIZ

compute aalb_2=al1b5_2.
if (a15_1=1) aal5_2=a15_2+12.
if (a15_2=88 | a15_2=1000) aa15_2=1000.

] aal5_5
[CRE] J|&tAI2+

4 4>
> <
02 Ol

g

compute aalb_b=alb_5.
if (a15_5=88 | a15_5=1000) aa15_5=1000.

[H==018] aalb
[H=&Z] [CRE] =& A2

al5_1=1) aa15=(a15_5x60+a15_6) - (a15_2*60+al15_3).
al5_1=2) aa15=((a15_5+12)*60+al15_6) — (a15_2x60+a15_3).
a15 1>2 | a15_4>2) aa15=8888.

aal15>720 & aa15<1081) aa15=8888.

— o~ —~ —

£3d] [RE] ol2 EZ A2t
)

recode aal5 (0 thru 299=1) (300 thru 359=2) (360 thru 419=3)
(420 thru 479=4) (480 thru 1080=5) (else=copy) into aaals.

value labels aaalb.

1 5AIZH Ogt
2 BAIZE - BAIZ2F
3 BAIZI=7AlZ¢
4 TAZH-8AlZt
5 8AIZH Ol &
8888 FsH
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[2&8s] 18

[H=018] aab0_1

[B=&E] [RE] DOAME - R
[H=015] aab0_2

[B=&E] [RE] DOAME - S

|
recode a60_1 aB60_2 (14=3)(15=2)(19=7)(20 21 16 17 18=81)(else=copy)
into aa60_1 aab0_2.

value labels aa60_1 aab0_2.
2t

JHE =2

st

ng/aZ

Ol& WAl

CH el 2t HI /ALl 4 &
22
A2

g1 2= 2 X
10 SW=H
[RPSE=

12 €=

13 = &H

81 JIEt

OCONOOTA~WN —

[2st8iS] 19

[H=0lE] aabl_1

[H=dH] [RE] D0 =4t - HHM

[H2=0I5] aabl1_2

[HdH] [RE] D0 =4t - SSHM

recode a61_1 a61_2 (9=8)(12 13=5) (14=3)(15 16 18=11)(17 19 23 24=72)
(20 21 22 25=81)(else=copy) into aab1_1 aab1_2.

value labels aa61_1 aab1_2.

1 ofoiL
2 O

3 &7

4 My

5 &R, =
6 M2 AE
7 XM
8 Al
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[2gHs] 21
[H20l8] aab3
[H2&Y] [CRE] R22 o2 BZ HSIAIZE (222 &4

compute  aab3 = ab3_1 *x 60(&) + aa63_2

E] aaab3
H%] [RE] 222 o2 B2 HatAIZH

recode aa63 (0=1)(1 thru 29=2) (30 thru 59=3) (60 thru 119=4)
(120 thru 240=5)(else=copy) into aaab3.

value labels aaa63.

1 QFstch

2 30= Ofet

3 30=2~1Al2t Olgt
4 1AIZ2t~2A2¢ Ol8t
5 2AI2t Ol &

8888 3¢

[2stBis] 25

[H2=0IE] aa27_1

[Bl=d0] [RE] QHY 0|2 2 - A

[H2=018] aa27_2

(B8] [RE] OHY 0|2 2% - SE M

recode a27_1 a27_2 (10 thru 15=10) (21=1) (27=4) (19=5) (20=8)

(16 17 18 22 25=89) (else=copy) into aa27_1 aa27_2.

value labels aa27_1 aa27_2.
HEHM

TV CHAIE D]

Ol Yl AE

=222 ALY

2ol S5/uR

E-mail

ME

=353/t

sl

10 Q1Y HAa(H35}/eteh)Ats 24t
88 JIEH/ S22 AT
1000 RSE/Hlolg

OCOONOOOTA~WN —

[2stS] 28 29 30 31
[B12=012] internet
[H4=&dH] [CRE] 2HY 55 =

internet B14~= recode 2 compute AE S Soll MH= B4,

recode a30_1 to a30_7 a31_1 to a31_6 a32_1 to a32_7 al33_1 to a33_6 (1=1)(else=0)
into aa30_1 to aa30_7 aa31_1 to aa31_6 aa32_1 to aa32_7 aa33_1 to aa33_6.

recode a30_1 to a30_7 a31_1 to a31_6 a32_1 to a32_7 a33_1 to a33_6 (7 9 = 1000)

(else=copy) into ab30_1 to ab30_7 ab31_1 to ab31_6 ab32_1 to ab32_7
ab33_1 to ab33_6.
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compute internet=sum(aa30_1 to aa30_7, aa31_1, aa31_3 to aa31_6,
aa32_1 to aa32_7, aa33_1 to aa33_6).

] net

M%] [RE] QIHY ==

recode internet (0 thru 9=1) (10 thru 13=2) (14 thru 19=3) (20 thru 25=4) into net.

value labels net.
A

2
ssoly

=<
==

Moo —

[ ] 34

[ ] aa43

[ 1 [RE] OGiJF AlZtS 20| ELH= AME
7

recode a43 (11=5)(21 7 10=4)(22 12=3)(23 13=1)(6 66 20 99=1000)(else=copy) into aa43.

% % Mo
4> 4> oo
g
02 Olv foh

value labels aa43.

XA BREE I LD
J

1
2
3
4
5 A
8
9
1

[2883] 35

[H==018] aad4_t

[H=&22Z] [RE] OJIAIZIE BEU= A - HEM

[H==015] aad44 2

[(H=&2F] [RE] GItAIZIS EUlE A - SEM

recode ad4_1 ad44_2 (44=2) (75=4)(59=6)(61 63 57 40 24 20 22 39 55 60 64 72 78=7)

(56=53)(36 23 31 42 45 76 47=19)(30 66 70=21)(38=25)(49 37 73 74 79 65
67 68 69 33 26 41 43 28 29 46 50 51 53 80 82 71 62 48 58 52=89)
(34 35 = 27)(54=1000)(else=copy) into aa44_1 aadd_2

value labels aa44_1 aad44 2.

S

N 0p oA Jo
oy
o 0

ot
0z

ERN

1

2

3

4

5

6 MAEZE &
7

8

9

10 e
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11
12
13
14
15
16
17
18
19
21
25
27
32
89
99

o541

23

HICI 28

D3, 8%, B S
POt

HE

molx

220/ =0l
oH

R

SMa
SRN/EPY/2SH
a2

I E

giCh/2 20

tol

4

1000 £s¥

[2stHS] 36

[H=0lE] aa45_1

[H=&HH] [RE] &FREN F2

[H2=015] aa45_?2

[H=&HH] [RE] &FREN F2

recode ad45_1 a45_2
(56=53)(36 2
67 68 69 33
(34 35 = 27)

value labels aa45_1 aa4b_2.

1 &n

2 &

3 2

4 HlUls, O

5 AlY

6 IHAEZE X

7 Z2el

8 =%

9 ggl-/\l

10 -eHet

11 SHSEDHA

12 2%

13 HICI%

14 Ws|, 84 &2 =

15 pPCY

16 M&

17 HOH

18 S&30ILt =0IH

19 DA

21 &2

25 =A4

27 sRE/ZERE/2SE

32 &3

89 JIE}

99 gl 2=t

1000 £s¥

= &4 - AWM

S FA - SR

) (75=4)(59=6)(61 63 57 40 24 20 22 39 55 60 64 72 78=7)
2 45 76 47=19)(30 66 70=21)(38=25)(49 37 73 74 79 65

6 41 43 28 29 46 50 51 53 80 82 71 62 48 58 52=89)
(54=1000)(else=copy) into aa45_1 aa45_2.
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